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PRAHLADRAI DALMIA LIONS COLLEGE

OF COMMERCE & ECONOMICS
ISO 9001: 2015 Certified

SEMESTER: IV (MARCH 2023)
SUBJECT: FOUNDATION COURSE - IV =1
| TIME: 2 HOURS & 30 MINUTES
: |
(1) All Questions are compulsory.
~ (2)Each Question carries 15 marks.
-:r@#(i)mmune-t:mtm or false: (Any §) ®)

1. Insurance provides maximum risk.
' 2. Insurance provides more return then fixed deposit.
' 3. Life insurance classified into two part endowment and term plan.
K lesﬁc insurance does not provide insurance for cargo.
| 5. Home insurance also provide security to garage.
!' 6. Promissory note includes two parties.
[ 7. Bills of exchange comes under section 6 of NI.
8. Bills are always promises to pay any amount.

- 9. Conditional bills are valid bills.
;II. SHG is voluntary association.
Le
" Q.1 (B). Match the Column: (Any 7) M
" Column A Column B
Insurance regulator a) Banks and FI tie up
ey — b) Transferable instruments
Health insurance c) Banking through internet
Home insurance d) Rural Sector
e ¢) Principle of insurance
insurable Interest f Additional add on in policy
Micro finance g) Provide safety to property
E- Banking h) Cashless treatment
S i) ICICI Lombard
10. Loan Syndication j) IRDAI
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(C) Explain role of RBI.

Q3. (A) Write types and function of ¢
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SUBJECT: INFORMATION TECHNOLOGY IN INVESTMENT
MANAGEMENT - I
TIME: 2 HOURS & 30 MINUTES

stions are compulsory.
ion carries 15 marks.

i dlulnu!luthm. (any 8) i (%)

hich of the following shortcut key is used to stop the slide show?

c key b) Ctrl + O ¢) Ctrl + N Qi+ K

,ofﬂp:ﬁ:]hwingisﬂieﬁle extension of the PowerPoint application?

 bB)jpg <) .html d).docs

nmerce gives faster, efficient and reliable with customer. _
munication b) business ¢) Profit d) credits |

b)C2C ¢)C2B d) B2C
o e
a type of software designed to help the user's computer detect viruses and avoid
i
ases are in handshaking SSL protocol? *
)3 d)5 :

LI {

~

ware Layer b)mmlqﬁu)wﬂn:ﬁm

b) File ¢) Disk d) Audio 5:: |
hn]ogyﬂ.mwaspnssedintheyﬁg____--
¢) 2008 d}ﬁﬁ

b) Locking ) Deleting  d) Backup

e |
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2 Question carries 15 marks.
working notes in support of your lﬂ“"“‘"”"‘“"‘“‘“‘"‘"

columns, (ATTEMPT ANY §) (8)

COLUMN A COLUMND |
1. Cash Balance Approach n Prosperity
2. Indirect tax hm
1 3. Initial burden fhﬁx
[ % Tigh Prices & Public goods
5. NBTT x Zx __-_-_igm of tax
6. Cash Transaction f. SFIT
ﬁﬁ X Rx B Sales tax
TE v W RCTT
O =y " Tncidonoe of tax
- [70. Direct tax — T
Fﬂl’lﬂlﬂu
;,r +

MMMMMWNT) (7
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4l Ohlin advocated the concept of full emp 3
equatior ?!MT‘HII#MHMW' 3
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> 1 | SEMESTER: IV (MARCH 2023)
SUBJECT: FUNDAMENTAL OF EQUITY
FO-— MARKET ko
KS: 78 i - | VIME: 2HOURS & S0MINUTES |
(1) ANl Questions are compulsory, i
(@)Each Question carries 15 marks,

(AN working notes in support of your answer should form part of your unswer,

Multiple choice questions (Any § out of 10) (8)

In primary markets, first time issued shares 1 be publicly traded in stock markets is considered
: L . (Public Markets, Issuance Offering, Initial Public Offering,

 2) Saving banks, insurance companies, mutual funds and commercial banks are all examples
of (Non-Financial Institutions, Derivative Institutions, Financial Institutions, and
Non-Profit Institutions)
3) __is mainly used by the banks to meet their temporary requirement of
cash. (Call Money, Put Money, Financial Instruments, Hawala Funds)
4) If share market is depressed a company should issue  capital. (Debt, Owned, Mix,
Ryhaid)
) The BSE Sensex consists of a basket of __ stocks. (50, 100, 30, 25)

E?!" 6) The retum which the company pays on Equily shares is termed as

{Dividend, Interest,

s DA are those investor or the broker who believe share price is going to nise
' (Bull, bear, stop loss, Notional Profit)
~ §) The unorganized financial sectors are not governed by __ . (Regulatory

~ body, RBI, SEBL, PFRDA) ¥ o
Tk ) means admission of securities to deal on recognized stock exchange (Listing, Delisting,
ng, Fore Closure)
takes guarantee of unsold shares (Loan syndication, Portfolio managers, Underwriter,

]
Column B 5. e M J
| _ANSDL g
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carries 15 marks,

mﬁﬂ-m— €) Tips d) future price of s security

The fundamental analysis has been associated with
] mnmamamm

Lmumu.murmu

2) Ratios b) Value of share ©) Tips d) Future price of security

4 bﬁuuﬁumhmﬁu&mamammm
- 2 Financial Leverage b) Operating Leverage ) Combined

£ ) e

Leverage d}Tu:bkan
indicates the general direction in which a security price is headed.
B) Ratio ¢) price d) none of the above.

e S e .ﬁimﬂhmmm%dﬂum
] mm ) Monetary  d) Public

hmmﬁrﬁtisluudu____.
b) Financial risk <) Beta coefficient d) Systematic risk

; Mﬁmmdﬂbh.m&hh
am (c) Pie () Bar

--.-n'rrn-rr-h:uw-, 7 out of 10)










e PRAHLADRAI DALMIA LIONS CoLLEGE
Rt OF COMMERCE & EcCONOMICS
ISO 9001: 2015 Certified

L B | SEMESTER: 'V MARGIT2033)

%ﬂ SUBJECT: FINANCIAL MANAGEMENT
TIME: 2 HOURS & 30 MINUTES

; (1) All Questions are compulsory, 3 & 30 MINUTES

(2)Each Question carries 15 marks,
()ALl working notes in support of your answer should form part of your answer.

Q.1 A) Match the columns(any §):

(08)
Column A [ Column B :
1. Financial Leverage A._Cash receipts
2. Operating Leverage B._Positive working capital
C. Long term period
s P T D. Business Risk
E. Inventory management
F. Cash payment
assets are more than current G. Negative working capital
Current asscts arc less than current H. Short term period
. Credi L Financial Risk
[ 10. EOQ J. _Receivable management
| _"’l)hnrrﬁthMmmuﬂmmhﬁm&ﬂwwanmorI’tﬁe
(Any 7):

1) Wmump&nlwmmmmqu&mmisulhdspwiﬂwukhgqiﬂ.

2) Carrying cost includes cost of storage space

3) Cmeumhuumtﬁshiliﬂmhcnlledmwkhgupihl

4) Shmumfufesismadndnkooﬁplsundnrwhhudﬂ

5 Cmmmmmucmmmmﬂﬁrmuhmmuﬂdmm
6) A good system of inventory reduces the capital tied up in various inventory.

7) Fixed budget is also called static budget.

8) Budget need not be realistic.

9) There is & direct relation between risk and retum.

10) On debt, interest is payable at a fluctuating rate.

2 A) Satish Ld. manufactured and sold 12000 Mobilk handsetsin the year 2022, The production cost
it was & under:

Per unit
Material 35
Labour 25
Overheads 10
' 30% of sales |
Raw materials will remain in stock for 1.5 months,
Finished goods will remain in godownfor one monih before sale.
) Credit allowed to customers will be 3 months.
) Creditors allow credit of two months.
ges and Overheads are paid one month in amears.
ials will be in process on an average for half month.
in hand and with bank should always be Rs. 50000.
% of sales and 30% of purchases are on cash basis.
u are required to forecast working capital roq;;:emmi of the company. 185)

rom the following data estimate the working capital requirements for the year ended 31/3/22:
: output 3000 units p.m.

price Rs. 150 p.u_, profit is Rs. 20 p.u.
<) Raw materials is 40% of sales, wages and overheads are in the ratio 3:2 per unit.
d) Raw materials remain in stock for 3 months and suppliers give 2 months credit.
¢) Customers are allowed 3 months credit and 20% of the output is sold for cash.
) Finished goods remain in stock for a month,
g) Process cycle is 2 months, :
m“bmof’ms is 2 months and overheads is 1.5 months.
i) Cash balance is 20% of gross working capital.




pare o cash-budget of Bhavana Lid. for April, May & June from the following information:

Aont Sales Rs. Purchases Rs, Wages Rs. Overbeads Rs, |

1,80,000 1,20,000 23,000 6000

1,75,000 1,22,000 22,000 6000

- 1,90,000 1,30,000 25,000 7000

dgeted 185,000 000 26,000 6000

[ Itmim |t—'jm qu F W

informed that: §
) The average collection period for debtors is two months. y

b) 10% of the purchases and 20% of sales are for cash, i
¢) Of the creditors, half are paid in the next month and half in next to next month.
d) Lag in payment of wages is 1/5* month
¢) Lagin payment of overheads is 1/4" month
Cash and Bank balances as on 1% April were Rs 20,000, (15) ,
OR

Q.3 B) Pankaj Ltd. gives you the following information: '

For production of 10000 ks of a finished product, budgeted expenses are us under:

Rs.per unit i

Direct materials 120 2 |
Direct wages 6l |
Variable overhead 50 '
Fixed overhead 20

Selling expenses ( 10% variable) 30

Administration expenses (100% fixed) 10

Distribution expenses (20% fixed) 25

Preparc a flaxible budget for production of 7000 kgs, 9000 kes and 10000 kgs.  (15)

Q. 4 A) Sailee Industrics Ltd. is marketing all its products through a network of dealers. All sales are on
credit and the dealers are given one meath time to settle bills. The company is thinking of changing the
credit period with a view to increase its overall profits. The marketing depertment has prepared the

following estimates for different periods of credit

Present policy Plan [ Plan 11 Plan 1T
Credit period _( in months) ke 4 L3 2 3
Sales (Rs.) 120000 130000 150000 180000
Fixedcosts  (Rs) 30000 30000 35000 40000
| Bad debts (% of sales ) 0.5 0.8 1 2
Collection charges (Rs.) 5000 6000 8000 10000

The company has a Variable cost of 40% further it requires a pre-tax return on investment at 20%.
Evaluate each of the above proposals and recommend the best credit period for the company.

5
OR o
Q.4 B) The following information is obtained from a compuny for January:
Sales Rs. 500000
Varinble Costs Rs. 200000
Fixed Costs Ra. 100000
10% Debenture Rs. 00000
Equity share capital (Rs. 10 cacls) Rs. 500000
Tax rate 0%
Calculate all Leverages and EPS. (08)

Q.4 C) Following information is provided 1o you by Prachi Co. in respect of its materials:
Re-order quantity 3000 kgs, re-order period 4 (o 6 weeks, Minimum consumption 500 units, and o
- maximum consumgtion 800 units. Calculate Re-arder Jevel, minimum level, maximum level and average
stock level. o7) :
- Q:5A) Explain the different types of warking copital with appropriate cxamples, (08)

Q. n the diffirent features of cash manngement in bricf.

ﬁlﬂw 7 on o7




